Q1

Answer :

Total number of trials = 300

(i) Probability of getting head =

Number of times a head is obtained = 136
Number of times a tail is obtained= 164

(i) Probability of getting a tail =

Q2

Answer:

Total number of trials = 200

Number of times 2 heads are Dhta'\medf a8

(i) Probability of getting 2 heads =

(i) Probability of getting 1 head =

(i) Probability of getting 0 head =

Numbe r of times heads is obtained _ 136 34
Total number of trials 300 75
61 _ 41

75

.
Number of times one head is obilained’ = 83 K

Number of times no head iS ﬂbtai'neﬂ = @

N\
{‘“mu[' 2 heads have been obtained

Limes
Total number of trials

Number of itimes 1 head has been obtained _ 83
Toial pumber of irdals 200
Number of head has noi been  obtained 50




Q3

Answer :

Total number of trials = 100
Number of times 3 is obtained = 18
Number of times 6 is obtained = 9
Number of times 4 is obtained = 15
Number of times 1 is obtained = 21

(i) Probability of getting a 3 — Number of times 3 is ”hm""l =

(1_1) Probability of getting a6 —

(m) Probability of getting a 4 —

(iv Probability of getting a1 —

Q4

Answer:

Total number of ladies surveyed =100 @‘Q/
Ladies who like coffee = 36 Cn
Ladies who do not like coffee = 64

(i) Probability of choosing a lady who likes coffee — Number
3 _ 0
100 25
(ii) Probability of choosing a lady who dislikes coffee
_Hmnbt!dluﬁmwhothﬂhmﬂ‘m B4 16

Total number of ladies B 11






